= o]
N & 0l & AF & & A A
20208 = 3 &l YurslA M
SA: GEEMY
J: JIE0l 47| BS SNAMHA B
ool Mo AIBIEN 243 (Eto: & d)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
0148 2D} 23,631,068 22,455,506 1,175,562
2 3,237,960 3,258,530 £20,570
g 4,798,751 4,879,650 £80,899
= 3,251,613 2,281,652 969,961
Al 12,342,744 12,035,674 307,070
B0l 40 BS =SXAHIA MEB 23,214,303 22,391,816 822,487
=2 3,237,960 3,258,530 £20,570
ol 4,798,751 4,879,650 £80,899
= 3,251,613 2,281,652 969,961
Al 11,925,979 11,971,984 £46,005
Gl AtEIEOl B3 1,134,767 1,160,890 £26,123
Ol & el Xl 33,300 36,740 £3,440
201 Yete | 2,240 2,660 £420
01 AR 22t 2,240 2,660 £420
OsgIBEIIAAS 319 Ba+Y 0! 0 420 A 420
203 &2 X A H| 10,810 13,830 £3,020
R EESSISE ST 10,810 13,830 £3,020
O&=X e Y25 10,810,000 10,810 13,830 £3,020
OEESFEA X4 179,097 199,780 £20,683
201 Yete Al 77,287 96,380 £19,003
01 At 2t 74,287 93,380 £19,003
Oolaors Rola) 2ag a2 - 29 64,907 84,000 £~19,003
—J|= 43,200,0008! 43,200 48,000 £4,800
- R 21,707,000 21,707 36,000 £14,293
401 A& HI L 2 OHHI 89,810 91,400 ~1,590
01 Al&HI 89,810 91,400 A 1,590
OugetaANL X4 80,504 81,400 896
—otalol e 3,870,000 3,870 7,000 £3,130
—EHYZ LED HES 0 0 15,000 15,000
- EY 76,634,000 76,634 59,400 17,234
OO Leta QoS BE X BAH|
9,306,000 9,306 10,000 £694
HA Y e 13,344 15,344 A2,000
201 Yete A | 13,344 15,344 A2,000
02 BBl 6,900 8,900 £2,000
O=A 2223 2 HMA 6.300,0008! 6,300 8,000 A 1,700
Oxte S X bl 600,000 600 900 A300
CIAMZYSIIME 2 580,017 558,872 21,145
2 384,684 376,016 8,668
= 97,667 91,428 6.239
Al 97,666 91,428 6.238
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JHE01 &0

ERSE

AMZL5HIIHE

o
Icé'

£2 SNANEA WS

SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
MYHE NESY(FHALAAN 2) 250,716 202, 188 48,528
= 125,358 101,094 24,264
< 62,679 50,547 12,132
Al 62,679 50,547 12,132
307 21240 250,716 202, 188 48,528
= 125,358 101,094 24,264
= 62,679 50,547 12,132
Al 62,679 50,547 12,132
11 AFBI 2 XA B X 250,716 202, 188 48,528
o= 238,716,000 238,716 139,824 98,892
=2 119,358 69,912 49,446
= 59,679 34,956 24,723
Al 59,679 34,956 24,723
Ogs 3l 10,800,000 10,800 26,280 A15,480
=2 5,400 13,140 AT,740
< 2,700 6,570 A3,870
Al 2,700 6,570 A3,870
OgRNDLG 1,200,000 1,200 7,200 6,000
=2 600 3,600 ~3,000
= 300 1,800 A 1,500
Al 300 1,800 A 1,500
008 =AX o 0 28,884 128,884
= 0 14,442 14,442
= 0 7,221 AT,221
Al 0 7,221 7,221
MYLHE NRSY(LD22HYl) 18,750 14,724 4,026
= 9,375 7,362 2,013
= 4,688 3,681 1,007
Al 4,687 3,681 1,006
307 21240 18,750 14,724 4,026
=2 9,375 7,362 2,013
= 4,688 3,681 1,007
Al 4,687 3,681 1,006
11 MBI 2 XA E X 18,750 14,724 4,026
OMLME S22 18,750,000 18,750 14,724 4,026
=2 9,375 7,362 2,013
= 4,688 3,681 1,007
Al 4,687 3,681 1,006
MME KESS (ALl L AZz2 AlH]) 12,000 30,000 A 18,000
2 6,000 15,000 ~9,000
= 3,000 7,500 A 4,500
Al 3,000 7,500 A 4,500
307 21240 & 12,000 30,000 A18,000
=2 6,000 15,000 ~9,000
= 3,000 7,500 A 4,500
Al 3,000 7,500 A 4,500
I Er N EEE 12,000 30,000 18,000
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el

G RESESES N

JIE0 &0 £E2 SXNANEA WS

HEaMZLINIEH 2

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ONgZeltl & Asadel Aol
2,000,0002! 2,000 30,000 18,000
2 6,000 15,000 A9,000
< 3,000 7,500 ~4,500
Al 3,000 7,500 A4,500
MYHE NHSY(ML0IL B 29) 135,000 59,000 24,000
2 108,000 127,200 ~19,200
= 13,500 15,900 A2,400
Al 3,500 15,900 A2,400
307 212+0| & 135,000 59,000 24,000
2 108,000 127,200 ~19,200
= 3,500 15,900 A2,400
Al 13,500 15,900 A2,400
11 A S T A 2 5 135,000 59,000 24,000
OMZOols QEH 29 135,000, 0002 135,000 59,000 24,000
2 108,000 127,200 A19,200
= 3,500 15,900 A2,400
Al 3,500 15,900 A2,400
MYHE NBSY(NYNEESR Z2AY) 108,351 97,760 10,591
2 108,351 97,760 10,591
307 212¢0I & 108,351 97,760 10,591
2 108,351 97,760 10,591
e EEES 108,351 97,760 10,591
OFALEOY MNPDS2H X
108,351,002 108,351 97,760 10,591
2 108,351 97,760 10,591
CEEETEE-F 1,495,090 1,470,689 24,401
2 99,508 128,746 £29,238
o] 510,630 484,210 26,420
< 316,603 305,235 11,368
Al 568,349 552,498 15,851
BTIIB SEE - S0 S22 OIFE YD 13,200 1,400 1,800
=
201 YBt2 | 13,200 1,400 1,800
01 AbR 22l H] 13,200 11,400 1,800
OG&TE 2 4T) 22 ARBE 7Y
2,000,000 2,000 0 2,000
OMANTINSSAAEY DS 4,800,000% 4,800 5,000 A200
EETRPE -2 e E-ET T 300 630 £330
201 Yer2 | 300 630 £330
01 AbR 22l 300 630 £330
OHslE - 4=Z2 D&M 5o+g
300,0002 300 630 A330
M= DHA BEAL 29 KA (WSS 4Y) 14,932 5,120 9,812
o] 5,120 5,120 0
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el
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H47] B2 SXMUIA M2
oA 5
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0
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Al 9,812 0 9,812
307 glz2tol & 14,932 5,120 9,812
J| 5,120 5,120 0
Al 9,812 0 9,812
11T MISXASEEX 14,932 5,120 9,812
OJNE=HIoi Xt ESAE H== M4AHH X2
14,932,000& 14,932 5,120 9,812
J| 5,120 5,120 0
Al 9,812 0 9,812
NEES DA BESAE 22 XN (A=) 3,280 4,000 AT20
J| 2,296 2,800 A 504
=) 492 600 A 108
Al 492 600 A 108
307 glz2+ol & 3,280 4,000 AT20
J| 2,296 2,800 A 504
< 492 600 A 108
Al 492 600 A 108
11T M Z2XAS EX 3,280 4,000 AT20
OJtE =IOl HgE&l 3,280,000& 3,280 4,000 AT720
J| 2,296 2,800 A 504
< 492 600 A 108
Al 492 600 A 108
IHEEZH Lo = = Iy 29 19,350 15,800 3,550
J| 13,545 11,060 2,485
=) 2,902 2,370 532
Al 2,903 2,370 533
307 glztol & 19,350 15,800 3,550
J| 13,545 11,060 2,485
S 2,902 2,370 532
Al 2,903 2,370 533
11T MISRASEEX 19,350 15,800 3,550
ONEEZIX XZ-2=2=220d8 2
19,350,000& 19,350 15,800 3,550
J| 13,545 11,060 2,485
< 2,902 2,370 532
Al 2,903 2,370 533
JE =9 Dt it nE - Xg T2 2 18,053 21,600 A 3,547
J| 12,637 15,120 N2,483
) 2,708 3,240 A 532
Al 2,708 3,240 A 532
307 glztol & 18,053 21,600 A 3,547
J| 12,637 15,120 N2,483
= 2,708 3,240 A 532
Al 2,708 3,240 A 532
11T M3 SRASEEX 18,053 21,600 A 3,547
OJNEEZHDIoHA ¥ - Xg Z28 2949
18,053,000& 18,053 21,600 A 3,547
J| 12,637 15,120 A 2,483
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el

X ZH
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R R
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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
=) 2,708 3,240 A 532
Al 2,708 3,240 A 532
I8 =8 dE8a 29 297,990 244,402 53,588
J| 148,996 122,202 26,794
< 74,497 61,100 13,397
Al 74,497 61,100 13,397
307 21201 & 297,990 244,402 53,588
J| 148,996 122,202 26,794
< 74,497 61,100 13,397
Al 74,497 61,100 13,397
10 AL SXAIEEE2EH EX 297,990 244,402 53,588
ONg=g4ga 29 297,990, 000& 297,990 244,402 53,588
J| 148,996 122,202 26,794
< 74,497 61,100 13,397
Al 74,497 61,100 13,397
42 Ik g -3 2208 2¢9 11,160 10,960 200
J| 7,800 7,672 128
=) 1,680 1,644 36
Al 1,680 1,644 36
307 glztol & 11,160 10,960 200
J| 7,800 7,672 128
=) 1,680 1,644 36
Al 1,680 1,644 36
11T MISRASEX 11,160 10,960 200
OdZHIciA Xz -3 2208 2gF
11,160,000& 11,160 10,960 200
J| 7,800 7,672 128
< 1,680 1,644 36
Al 1,680 1,644 36
HAE AZNIA (LAY AMEE L) 149,952 208,428 N 58,476
= 74,976 104,214 N29,238
=) 37,488 52,107 A 14,619
Al 37,488 52,107 A 14,619
307 21201 A 149,952 208,428 N 58,476
= 74,976 104,214 N29,238
= 37,488 52,107 A 14,619
Al 37,488 52,107 A 14,619
11T MISAASEX 149,952 208,428 N 58,476
Odaad AMUES NS
149,952,000& 149,952 208,428 N 58,476
= 74,976 104,214 N29,238
= 37,488 52,107 A 14,619
Al 37,488 52,107 A 14,619
HEZAMoH A XJAAE SAX 24H X2 74,776 63,752 11,024
= 37,388 31,876 5,512
Al 37,388 31,876 5,512
307 21201 A 74,776 63,752 11,024
= 37,388 31,876 5,512
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X ZH
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el

R R
D ObE0l &0 B2 =XMUIA MZ
oA 5

[l

0

pal

SN B SR(EH) - MBAY - BES 0l &t o p/E-T HDE2
A 37,368 31.870 5,51
TSR EEES 74,776 63,752 11,024
OWSZALMI KNBAIE SAR Q248 X8
74,776,0002 74,776 63,752 11,024
< 37,388 31,876 5,512
Al 37,388 31,876 5,512
HHAANENE(S2224+Y) 20,300 19,800 500
= 6,090 5,940 150
Al 14,210 13,860 350
301 Ypte ™2 20,300 19,800 500
= 6,090 5,940 150
Al 14,210 13,860 350
R EEERPSE] 20,300 19,800 500
ONFEZANYL BAR S4224¢
5,300,0008! 5,300 4,800 500
= 1,590 1,440 150
Al 3,710 3,360 350
AL (BAR H2HAb) 12,500 12,000 500
= 12,500 12,000 500
301 Ypte N2 12,500 12,000 500
< 12,500 12,000 500
01 M3l R == 452 12,500 12,000 500
ONZEZANGL AR MM
5,300,0008! 5,300 4,800 500
= 5,300 4,800 500
K-S SHSNSH2AA YHDS 6.500 0 6,500
< 6,500 0 6.500
307 212+0| & 6.500 0 6.500
< 6,500 0 6.500
02 QIZAMALER 6,500 0 6.500
OR-0tS & SBSISHSAN SEDS
6,500,000 6,500 0 6.500
= 6,500 0 6.500
ALotn = NN MHlA MB 4,406,817 4,382,237 24,580
= 2,661,053 2,661,053 0
p 89,420 84,880 4,540
= 678,315 673,245 5,070
Al 978,029 963,059 14,970
ALNFXNANE BAX S42224Y 20,400 19,200 1,200
= 6,120 5,760 360
Al 14,280 13,440 840
301 LBt 2 20,400 19,200 1,200
= 6,120 5,760 360
Al 14,280 13,440 840
01 MBIR B =452 20,400 19,200 1,200




R R R=ESE<n);
M JIE0 &40 £E2 =SAMEA M3
CHel: HAF D &

d=et IIEXNE NHIA S

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OALINFNAHH BAKN S+22+2
20,400,00024 20,400 19,200 1,200
= 6,120 5,760 360
Al 14,280 13,440 840
ALNFNAME SMK LML 10,200 9,600 600
= 10,200 9,600 600
301 LB BHZ 10,200 9,600 600
= 10,200 9,600 600
01 MBI R == 452 10,200 9,600 600
OALNBNLHE SAK MMl
10,200,00094 10,200 9,600 600
= 10,200 9,600 600
ALNFNALH SSOISH LAY M) 80,000 82,920 £2,920
p 40,000 41,460 A1,460
Al 40,000 41,460 A 1,460
307 212+0| & 80,000 82,920 £2,920
p 40,000 41,460 A 1,460
Al 40,000 41,460 A 1,460
11 B = XIAN 2 = 80,000 82,920 £2,920
OALNBANLUEHSY OIS ML)
80,000,00084 80,000 82,920 £2,920
b 40,000 41,460 A1,460
Al 40,000 41,460 A1,460
2IIS0ILSE X 86,900 73,200 13,700
= 26,070 21,960 4,110
Al 60,830 51,240 9,590
307 212+0| & 86,900 73,200 13,700
= 26,070 21,960 4,110
Al 60,830 51,240 9,590
11 AEI = TIAN 2 = 86,900 73,200 13,700
OZINSOUSH 29 86,900,000 86,900 73,200 13,700
= 26,070 21,960 4,110
Al 60,830 51,240 9,590
ZESOLSH X8 98,840 86,840 12,000
b 49,420 43,420 6,000
Al 49,420 43,420 6,000
307 212+0| & 98,840 86,840 12,000
b 49,420 43,420 6,000
Al 49,420 43,420 6,000
1 ABIZX AR F 98,840 86,840 12,000
OZES0USH 29 98,840,00084 98,840 86,840 12,000
p 49,420 43,420 6,000
Al 49,420 43,420 6,000
SRNS=STAL X 623,222 611,588 11,634
= 92,715 92,715 0
b 51,356 50,943 413
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G RESESES N
JIE0 &0 £E2 SXNANEA WS
SIE=FXNAE K&

SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2

T 75,259 74,187 1,072

Al 403,892 393,743 10, 149

2TE SXAE X&E 34,175 34,775 A 600

S 10,253 10,433 A 180

Al 23,922 24,342 A420

301 LetE2H S 11,400 12,000 A 600

< 3,420 3,600 A 180

Al 7,980 8,400 AN 420

01 Al 2&H==6l= 11,400 12,000 A 600
ORXNI=ZNNAL BAK S+224+¢

11,400, 11,400 12,000 A 600

=) 3,420 3,600 A 180

Al 7,980 8,400 A 420

SXIE SXNAE 2Z(AAHHS) 402,605 390,960 11,645

S 40,260 39,096 1,164

Al 362,345 351,864 10,481

301 LetEH S 35,000 25,000 10,000

< 3,500 2,500 1,000

Al 31,500 22,500 9,000

01 A28 H =0dl= 35,000 25,000 10,000

OZXINE=NAE EaX NEEEHS N

35,000,000& 35,000 25,000 10,000

= 3,500 2,500 1,000

Al 31,500 22,500 9,000

307 21201 & 367,605 365,960 1,645

< 36,760 36,596 164

Al 330,845 329, 364 1,481

10 AR SAAEHIES2SHIEX 367,605 365,960 1,645

ORNIIE=FX AL 1HHl & 367,605,000 367,605 365,960 1,645

= 36,760 36,596 164

Al 330,845 329,364 1,481

AEO0IESS NEAS (2XIIE SXAIE) 55,714 55,125 589

Jl 39,000 38,587 413

= 8,357 8,269 88

Al 8,357 8,269 88

307 glztol & 55,714 55,125 589

Il 39,000 38,587 413

= 8,357 8,269 88

Al 8,357 8,269 88

A S XA E = 55,714 55,125 589
OZXIIE=XAE Ol0lSsSAMElA XI&

55,714,000& 55,714 55,125 589

J| 39,000 38,587 413

== 8,357 8,269 88

Al 8,357 8,269 88

SHRZ2IE N3 5,413,002 5,639,418 N226,416

Il 3,813,224 3,910,704 A97,480
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SRS X&

SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
= 649,204 724,762 A 75,468
Al 950,484 1,003,952 153,468
HAS B220E XA (TH) 556, 100 676, 100 120,000
< 166,830 202,830 36,000
Al 389,270 473,270 84,000
301 LB BHZ 556, 100 676, 100 120,000
< 166,830 202,830 36,000
Al 389,270 473,270 84,000
01 MBI R == 452 556, 100 676, 100 120,000
ONAS BEQI=E XA (TH)
556, 100,000 556, 100 676, 100 120,000
< 166,830 202,830 36,000
Al 389,270 473,270 84,000
HAS 82205 X (2) 4,788,450 4,836,700 48,250
p] 3,774,760 3,869,360 94,600
< 471,845 483,670 A 11,825
Al 541,845 483,670 58,175
301 LB BHZ 4,788,450 4,836,700 148,250
p] 3,774,760 3,869,360 94,600
= 471,845 483,670 A 11,825
Al 541,845 483,670 58,175
01 MBI R == 452 4,788,450 4,836,700 48,250
ONAS BREIE YSH S N
4,788,450,000% 4,788,450 4,836,700 48,250
p] 3,774,760 3,869,360 94,600
< 471,845 483,670 A 11,825
Al 541,845 483,670 58,175
HAd S22 NP 48,080 51,680 ~3,600
p] 38,464 41,344 £2,880
= 4,808 5,168 A 360
Al 4,808 5,168 A 360
301 LB BHZ 48,080 51,680 3,600
p] 38,464 41,344 A2,880
= 4,808 5,168 A 360
Al 4,808 5,168 A 360
01 M3l R == 452 48,080 51,680 3,600
OHAU 8122 OISYSH S XA
48,080,00024 48,080 51,680 ~3,600
p] 38,464 41,344 A2,880
< 4,808 5,168 A 360
Al 4,808 5,168 A 360
RIS NSSHMNE BSH XY 11,622 66, 188 54,566
= 5,811 33,004 ~27,283
Al 5,811 33,004 ~27,283
301 LB BHZ 11,622 66, 188 54,566
= 5,811 33,004 ~27,283
Al 5,811 33,004 ~27,283
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G RESESES N

SRS X&

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2

01 A28 H =62 11,622 66,188 A b54,566
OSR2IIE NSstdtH w=Hl

11,622,000& 11,622 66, 188 A b54,566

S 5,811 33,094 A27,283

Al 5,811 33,094 A27,283

Ct23tEs XI9Ae 88 X& 2,167,488 1,174,222 993, 266

Jl 334,121 348,913 A14,792

< 1,194,475 172,795 1,021,680

Al 638,892 652,514 A13,622

H0ots 22004 T0IS At 3,000 2,990 10

Jl 1,500 1,495 5

& 225 225 0

Al 1,275 1,270 5

307 21201 & 3,000 2,990 10

Jl 1,500 1,495 5

< 225 225 0

Al 1,275 1,270 5

05 22t & =3 3,000 2,990 10

OO0t Z20I=0d COIS ArY

3,000,000 3,000 2,990 10

Jl| 1,500 1,495 5

& 225 225 0

Al 1,275 1,270 5

Ct2etE S5 AMY 409,943 439,537 A 29,594

Jl 204,971 219,768 A14,797

< 30,745 32,965 22,220

Al 174,227 186,804 A12,577

307 21201 & 409,943 439,537 A 29,594

Jl 204,971 219,768 A14,797

< 30,745 32,965 A2,220

Al 174,227 186,804 A12,577

05 22t & =3 409,943 439,537 A 29,594

OU23ItEs Sd3AY 409,943,000& 409,943 439,537 N 29,594

J| 204,971 219,768 N14,797

[ 30,745 32,965 N2,220

Al 174,227 186,804 N12,577

e=elx0 & UIIINESNFE2A: 29 6,400 7,450 A 1,050

201 et 6,400 7,450 A 1,050

01 AFR2t2lH] 2,800 3,850 A 1,050
OLI=el=8 HEXs S A&

2,100,000 2,100 3,150 A 1,050

Z2E02UA X F2XT I MHII=2aSs NS 1,023,900 0 1,023,900

= 1,023,900 0 1,023,900

307 21201 & 1,023,900 0 1,023,900

S 1,023,900 0 1,023,900

05 22t & =2 1,023,900 0 1,023,900
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G RESESES N

o Jlm0| 40| E2 SXNHIA MBS
el ORsIls XGAE XS K (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OZE0I0X & SxaA = Mol=4s
NEICEED 1,023,900, 0002 1,023,900 0 1,023,900
= 1,023,900 0 1,023,900
BD A2 2Ry T4 29,250 24,250 5,000
RE2d Jbse AR F2 29,250 24,250 5,000
NEID BN Gte OlEYRa 29,250 24,250 5,000
201 Yer 2 bl 26,250 23,250 3,000
01 A2 22l 24,700 21,700 3,000
OoplEY ni2s NW E28E MI
3,000,000% 3,000 0 3,000
303 £4 3 2,000 0 2,000
01 Z&3 2,000 0 2,000
OIS YHY 2427 RBT T4
2,000,000 2,000 0 2,000
HH2YHH (0L F D) 36,440 39,440 3,000
ol = 2l 36,440 39,440 3,000
LT 36,440 39,440 3,000
202 01t 14,480 17,480 3,000
NETET 14,480 17,480 3,000
EEE S PIEYE 14,480,002 14,480 17,480 £3,000
WeES (08T =) 351,075 0 351,075
SHXE 351,075 0 351,075
or 830t 351,075 0 351,075
802 & 3t 351,075 0 351,075
NEREEEREE 237,817 0 237,817
ONFZAMAHN LS AL SSXH OIX
12,9402 13 0 13
ONYEAWHNZS AL SYX R (HI+SX
M281) 0% 250! 1 0 1
ONIYZHMHNEE AL SN (S 2TX
AZ) YYT o 5,000,000% 5,000 0 5,000
ONFZHMHNZE AL SN (S 2T X
A3) 0% 602! 1 0 1
ONFZAMANEEANE SSN (MRS
232) ox 2,770% 3 0 3
ONFZHMAH RS KR Ol 960! 1 0 1
ONYEZATHNZSAE 2SN (KL=l
) BT 1,635,380 1,636 0 1,636
ONHEAMHNSEAL SN (N
) Ol Xt 1,770 2 0 2
ONHZAMAHRAIL SNV OISEY) 0K
1,020% 2 0 2
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ORHANELEL2adH 29X 0l X
104,310& 105 0 105
OWE =L MHXAAE SAX BE+ns §
e &t oH 173,100& 174 0 174
OJNE=HIol 4t nd g T2 0l X
2,410& 3 0 3
ONE=84gs 29 0K 7,590& 8 0 8
OSZAUHA 2 XY H#EY
542,770& 543 0 543
Od=Z=mloi At 2=zdl X& Ol At 6,910 7 0 7
O&4=gIloHA XIg, 3= Z2J8 2 0k
1,760 2 0 2
O&g=d4ga 29 0K 12,170& 13 0 13
020198 MYHH XNE2F ZHLNH
48,275, 120& 48,276 0 48,276
020198 MEdE XNE2Y LMOIA
989, 150& 990 0 990
020198 HEEAE AUESE NI AN &
o 32,107,740& 32,108 0 32,108
020198 HE8EAE AUES NI MG 240
At 540,480& 541 0 541
OE=s=0tLt=H 0l A 163,330& 164 0 164
OAUAINEXNZHH 2SOIELEALXE) T
S K oH 3,042,580 3,043 0 3,043
OALINEXNEME 2 0l X 3,840 4 0 4
OO0 S SR AY ZaH&H 36,704,380& 36,705 0 36,705
OotolEs=s X2 ALY Ol &t 13,344,490& 13,345 0 13,345
OSRL2INEFINAE AT & XZ KA
A Ol A 1,400 2 0 2
OZXNESTAE JIs2ZXE 0l 390 1 0 1
OZ2XIE=XAE OIOISSHMEIAX A A
oA 1,555,980& 1,556 0 1,556
OZXIIE=XAE Ol0ISSMEIAXE Ol X
5,530& 6 0 6
OMNASERIIE 2FH S K&
64,405,680 64,406 0 64,406
OFAUHEREE Ots2=dl & X&
4,264,000 4,264 0 4,264
OUZaIIEXNJHE 2 14,362, 750& 14,363 0 14,363
OU=aINEXNFEH 2 0K 30,940& 31 0 31
OU=2aIE M A0SR 440,930 441 0 441
OCU=3ItE Tt AZEXE 0l 7,903 8 0 8
OZE0I2UX SEHAMHA 1,305,400& 1,306 0 1,306
OZE0I2A SHAMHIA O X 7,520 8 0 8
Ogt=0u=s 29 0k 5,340& 6 0 6
OO0z Itz 3x=d 227,020 228 0 228




LR
HH: YRS (GI D)
=

eel: BAR CEER-E))
2A-F3H-H2A(3) - MY - BES Of] Ak I & Hns2Z
O0lEQ0 JIFstFXH Ol X 3,130 4 0 4
og2ns MU A X 7,931,570¢ 7,932 0 7,932
Og2nSAHHA X 0l X 26,7409 27 0 27
OLI23 = At 22l X 533,080 534 0 534
OUI23tE Atl22l XY olXt 3,860 4 0 4
02 Al - SHIEZZ3EHEZ 113,258 0 113,258
OJNHEZHNHANESAE 29X Ol X
2,770 3 0 3
OJNHZAHNHNESAE X 0K 990¢ 1 0 1
ONHZATMNNESAE 2AXNJ (X222
Z08) Ol X 590% 1 0 1
OJEZAT K 224 XY 0kt 200 1 0 1
ONNEZATNHNESAE 2SI (RG]
) &R 350,430 351 0 351
ONNEZATNNESAE 2SI (Fgsy]
) Ol Xt 380 1 0 1
ONHZHINNESANE 2INAIIsEL)
Ol &t 5102 1 0 1
OWMEZHTINRNKAALE SAK 28 X
AbQl E 8 & ot 800,250 801 0 801
OWMEZHTNRNKAALE SAK 28 X
Akl Ol &t 3,220 4 0 4
OZoaZdY RS 0l 4,330 5 0
OWMEZATMNKNKIANE SAML BES1E T
o &k oH 91,4502 92 0 92
OJN}HEZHIIA A, X2 T2 Ol X&
5109 1 0 1
OJ}EZaANEA 29 O X 3,800 4 0 4
OSZATHA 2 2H X THRH
116,300 117 0 17
OMd=Z2maiXt o 2H X 0Kt 1,480 2 0 2
OMEZHTMHAL NB, 32208 29 0K
3702 1 0 1
OdEZMLAr 29 0K 6,080 7 0 7
OWMAAX AL BAX E42245 T
&t oH 300,000 300 0 300
OWMAAX AL BAX HRMAH R
ou 550,000 550 0 550
020194 Ol g QI L ME 29X OIX
2,730 3 0 3
OZAGENA CES FHIXNY ZHFN
2,517,260¢ 2,518 0 2,518
OBEHENY LS UK 0K 5,370 6 0 6
ODnstat D= L2Xel HAXNY 0K
2,670 3 0 3
O - FHHAH FHIXNA ZaaH
1,500,000 1,500 0 1,500
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Off &t 24

OU=aINEXNFEH 2 2,154,410
OtU==IEXNSHEH 22 0K 4,640
OU=23IE MHHAHL SN 28,350%
Ot=2ztE JHHANEE XA Ok 510&
OZE0/2UX SHAMHIA 83,920&
OZ&0l2UX SHAMHIA Ol K 480&
Ost=0lus 24 0lX 3403
Oo0Isgo JH=s8adxd 14,6003
oolsetol H=ssdxd Olk 200&
Og=ZuEMHA X 509,890&
OYEZwWEMEIA XI& Ol Xt 1,720&
OC2aotE At 2el X 34,270
Ot== It At 2tel XI& Ok 250&
OURAINIFXNZHEH SMIL S22

390,000&

OU2INEXNFHEH SAMI MIHAH
550,000&

OZe0l2X HSus XN Ol X 1,220&
OtizztalE2 #=X& 0l At 3,030&
OUZIsI=E MEZHZE 29 0l X 1,520&
OCt23tAtSl Ol = At Of Xt 1,880&
OZ&0l2 A et=01u= 0l X 4,350
Ot =3ItE sotel 22 43 XE 0lk
510&
Og=e=¢e &4gX& 0lX 3,130&
O2=0o=0l s=01= 0lX 1,220&
OSEg=X4 st=MAESKE OIK
1,550&
Ot=3 ASZ=23 0l Xt 150&
O0IF=tHHZFHEAYE I A4EANHA X
29,700&
OO0IF=tHHZEHEAYE ML AMEIA K& OlX
1,090&

OU=sots 0lsdu=E X& OlX 2,120&
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